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GCSE Mathematics
Practice Tests: Set 4

Paper 2F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

e Use black ink or ball-point pen.
e Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time fo spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1. Simplify 3xax5x5b
= 1Sxaxb
= 1Sab ISab
(Total 1 mark)
2.  Hereis a hexagon.

%mwg erd Qo\m}j Ecwahoa?

The angles of a hexagon add up to 720°.

Work out the size of the angle marked x.

Q2+ no” + l$3°+—%8°+(s‘8° Ao =20
Ceflock

<T&° +x°= F20°
(-5927)

(o]

x°= 2°

(Total 2 marks)
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3.  The table shows the names of five of Janette’s friends.

Boys Girls
Dodi
Anna
James
Michelle
William

Janette is going to play a team game.
She chooses one of the boys and one of the girls to be in her team.

Write down all the possible combinations Janette can choose.

(Total 2 marks)

4. CU‘VW*‘Q @w«d—c&% /@’DC\\W/
AsomalS

(i) What percentage of this shape is shaded?
a

(i1) Write your answer to part (i) as a decimal.

O
E o

“O0% = =

l
O
£

(Total 2 marks)
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5.
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Here are some words that can be used to describe the probability that an event will happen.

P ™

,
|\ certain impossible likely unlikely evens |
! /

e r

(a) Write down the word that best describes the probability

(i) that you will win a raffle when 400 tickets are sold and you have 10 of the tickets,

(ii) that you geta 10 when you roll an ordinary dice.

Ayesha is making a fair 8-sided spinner.
The spinner already has the colours red, white and blue written on it.

The probability that the spinner lands on red will be -;— 2 Red muast be L{-LKPQ s

The probability that the spinner lands on blue will be less than the probability that the spinner
lands on white. -~
U Mere. uiuie e Blne

(b) Complete the spinner by writing on it the colours that are missing.

(2)
(Total 4 marks)
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There are 400 counters in a bag.

36% of the counters are yellow.

% of the counters are blue.

The rest of the counters are green.

Work out how many counters are green.

Teuswo . 267 of LOO = OCBEXLOO = july
Grese~ oo — Iy —T0 = [

(Total 4 marks)
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The length of a bus is 10 metres. — (O, = OO v~

Gurjeet makes a model of the bus.
He uses a scale of 1 cm to 40 cm.

Work out the length of the model of the bus.
Give your answer in centimetres.

reci2 ) (=P~ 7= b

20.‘\"\'0 ‘m 1 O can
2Sen 100 Uemm (\000 L0 = zs)

(Total 2 marks)
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8.  Usain runs in a race.
The graph shows his speed, in metres per second (nvs), during the first 10 seconds

of the race.
M
PRGN
12 . s _
10
1 b -
g ' :
Speed imn & == , S RS umenAma
(ws) ¥ |
6
|
|
1
I
2
|
' i
0 2 4 6 8 10 ]
Time (seconds)
(a) Write down Usain’s speed at 2 seconds.
C’ ......... m/s
@)
(b) Write down Usain’s greatest speed.
.................. l ‘% m/s
1)
(c) Write down the time at which Usain’s speed was 7 m/s.
................. ' et .. seconds
1)

(Total 3 marks)
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Michael writes down 4 different factors of 60

He adds the 4 factors together.

He gets a number greater than 20 but less than 35

What 4 factors could Michael have written down?

22 3
1o £
5 12
< &
Ju z
&o 6O |1

(Total 3 marks)
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10.

D

ABCD is a quadrilateral.
DCS and PBC are straight lines.

Angle BAD = 90°
Angle ADC = 68°
Angle PAB = 40°
Angle PCS =75°

Work out the size of the angle marked x.
Give reasons for your answer.

DEB-:’EQ‘)U— ?S'O: ioS’b P«-r\eLMcne\ Stvewg it e = l@Ob

PEC. = 26S-A0-65"—10S Angled . o~ Qpradun\etered =3’
=q3°

- -]
AP =186 -A7° = 83 | Anglud on e stveumnt e =LBO

. o =_ o
AJD?_ 1%’6—%O°__S%° Angled us o-HTon\\ @ §i
- $3°
(Total 4 marks)
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11. Mr Smith kept a record of the number of absences for each student in his class for one term.
Here are his results.

0 0 0 8 4 5 5 3 -2 1

(a) Write down the mode.

mvask W O

1)
(b) Work out the mean.
JJMMML AP _ Otore i BrutSEST
S ———————m =
Inawmtj 10
— 28
= 2.
(2)

(Total 3 marks)
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12.  You can use this rule to work out the total cost, in pounds, of hiring a pressure washer.

Multiply the number of days by 5.4 and then add 15

Ali hires a pressure washer.
The total cost is £52.80

(a) Work out how many days Ali hires the pressure washer for.

(ost= days XS4 + IS | S2.80 = Skcd + 1S
(-IS') 23 -0 = Sdd

(-_‘—5.\_») ':,L = d ?,

.............................. days
@
Ben hires a pressure washer for y days.
The total cost is £C.
(b) Write down a formula for C in terms of y.
Cost = daysx S 15| C= Yx¥ Sk +it
C - S-L‘;j +' l_r .................... (2)

(Total 4 marks)
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13.

Mary works in a maternity unit.
She weighs the babies.

The table shows some weights in both pounds and kilograms.

pounds 44 | 6.6 | 88 11 132 | 154 PLoT Cop o TuATE €
kilograms | 2 3 4 3 6 7

(a) Use this table to draw a conversion graph to change between pounds and kilograms.

Kilograms
-

7

6

L]

2%

0 : ]
0 1 2 3 4 3 6 7 § g 10 11 12 13 14 1

Pounds

L

16

@

(b) Change 10 pounds to kilograms.

...................................................... kilograms

1

(c) Change 6.5 kilograms to pounds.

lL\'Li‘ ............ pounds
1)
(Total 4 marks)
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14.  George is going to buy exactly 10 ink cartridges.

Ink Cartridges

~ ;- . R
( 1
1 cartridge | |
3 cartridges
£9.39 per cartridge £24.30 for a pack of 3 cartridges

Find the{difference in cost between the cheapest way and the most expensive way to buy the
10 ink carffi ;

[ LOQ:Sa'f—-lPa_cM_S % lec%q-.?fi = é"(?) K0
L+ ets a—ﬁ B PaS: CAMIST HALPEORN) SINCE HE BUMsS BACTYIC
+ 1 et of Lpace Flx £ ]34 @<& a-z9
£K2 .24
B
D:fMferorce . CosF £a3 a0 - £322a = £ue)

(Total 5 marks)
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15. Henri and Ray buy some flowers for their mother.

They buy
3 bunches of roses for £6.99
1 bunch of roses and 2 bunches of tulips for £4.45

(a) Work out the cost of one bunch of tulips.

2 cses = £6 A4

(:2) | reses = £92.33

lroses + Zm\oés e ST
42.23 + 2H\pS —tuas

¢ £2%) Ztwips = £2. 12
(=2) Lhp =EL06

Henri and Ray share the total cost of £11.44 in the ratio 5:3

(b) Work out how much Henri pays and how much Ray pays.

Sr=2= Qr'::of"\"?

Lonuw = %PO/"Q

(=8) £1U42 =\ pert

Hear' = S pots
resd) L7205 = Sfcwts
Qq:j = ZPO‘A:S Henri £ -:’- “S .................
(«3) | 29 = 2por REY £ .29 .
3)
(Total 6 marks)
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16. Brian wants to go on holiday.
He is going to take out a loan of £500 to help pay for the holiday.

Brian will have to pay back the £500 plus 20% interest over 12 months.
He will pay back the same amount of money each month.

How much money will he need to pay back each month?

205 /o vntenaS + teoo < 0.2 = £60O

g-fmon%‘:ﬂw €600 S\ = £SO

—_—

(Total 4 marks)
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17

@ Diagram NOT

T o accurately drawn

7.2 cm

@

B

&
Calculate the length of AC.
Give your answer correct to 3 significant figures.

SR TTERY

Pgrogems | o FoT=c

=N
(-2 13.) b = 136 —F-2 = 294.2
r_—A-NS b - l'?—.iq-ci.Q'C?__,
......... =\F\ o em
(3%

(Total 3 marks)
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18. Chris has two children, Beth and Amy.
Beth is 10 years older than Amy.

Chris says,
“I am twice as old as the sum of Beth’s age and Amy’s age.”

Chris is 40 years old.

How old 1s Amy?

A-m:j:x

Retm=x+10

Cheis =2(pmyiend | = Chris = Q (se+2r10)

Ciwis =0 Lo = 2(oee)
Cotle ek wo = Qs
("2-0) 20 = Le

........................... years old

(Total 4 marks)
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19. A shop sells tins of beans in three different sizes.

A B C

Kathy wants to buy exactly 750 g of beans.
She wants to buy the beans at the cheapest possible cost.

Work out the cheapest cost.
You must show all your working.

&G’VM%WM& f_i__ |Sc35—‘-: 3Sp = L},?-%'(:S pes Rence
B. 200ga%= uSp = L. Wil q per ponc
E.___;'- chai-,“tGP '*-’5-1'53 v pomce

LOGIC We wAT AS MENY '2003'-\"'::03 AS
PSS TLE -
. B0« TINS [ 1304 TN
Booey = ﬁﬁ, (SOg=33p | = 3 XuSp + | ¥ &2SP
= EI-3S + FO.=T
= £1.%O
(Total 4 marks)
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10. Joe and Ann buy some fruit from the same shop.

cvebuys-. 4 apples and 3-bananasdor £2.505% 7, ¢
Annbuvs. 3 appoles and 4.bananas for £2.40:. .. .-

Work out the cost of

(i) one apple, ® L&-o\ 4+ 30 = Q\S‘O

(i1} one banana.

@ 2= il = 240
O x=2 @ 12a+ae= 3.5

© -0 | S@ve ez

®® \Lex +R= SO

—

Fo= 2 -0
C3R) oo O30
Sabshinie n @ La +3b = 2.50

wo+>(0.20) = 250

wion 040 = 2- SO

—

s = .c\o) LeCa F =60

= e

( 2w) <

(i) one apple %

(i1) one banana ?O )

(Total 5 marks)
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Set Noi—qh‘m

&=1{1,2,3,4,56,7,8,9,10}
i = jeven numbers}. - . -
o — ymulirples of 3¢

(a) List the members of set B.

1
(b) Find AU B
=

A2, 6, 8 109

52 :({3,-@;‘{3
Zlg;t{'(éf%{q fto

(1)
(¢) Find4NB~B
A
)
x is a member of &
XER
x&A
(d) What are the possible values of x?
e S o(z‘sr 5 ,qB
x/t/ﬁ- :..> C{o&d; '-’-§ lt%lgf?rqg
xX= = ar A
(2)

(Total 5 marks)
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4. Neville saw this car for sale.

Je.got a discount of 25%off theprice.of the-car..+:". * - ‘.. . *
He paid £7200.forthecar.-. .. -~ -

Work out the price of the car before the discount.

too*fe = 2

10 6% — 25 % =LI20C,
e = £3200

(3¢) | °/o = £9¢

(303) (00% = 24600

(Total 3 marks)
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&mphv'ﬂ

Keith, Ben and Liz tested a coin to find out if it was biased.
They each threw the coin a number of times.

_they counted. the number of heads. and.the number o1 tails they:eachigot.. .-« -0 b 0

L8 laple gmves mIOTmAlON ADOUT el IeSuIts.”

Keith Ben Liz
Number of heads 12 34 57
Number of tails 28 66 243

(a) Which person, Keith, Ben or Liz, will have the best estimate for the probability of getting
a head on this coin? Explain your answer.

LI-?: =2 S\nag f\)Qf.pQ_rw\p__Q\ 'f'b\Q o S+ 'N-r&\S- H-ef’

(b) Using all the results in the table, work out an estimate for the probability that the next
throw of the coin will be a head.

Nuwmber ch laad s
Number of Jocls = 28 +66+2mz= 32F

V243U ST — 197

1

P(hgaot) = N uwmbes o hads = _\°o2 = o2

TTeyecl Ty RS el
= O.23%
(2 a0)
©. 23
2)

(Total 3 marks)
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